THOFEPOTHMR DR

1. X2BORKR

28 ELCN=E- ARBAH K AR

38 (2.21~3.21) 30 6 24 18:52

67 (6.4~6.20) 17 6 1 13:40

EHIA 97 (8.27~9.24) 29 6 23 13:37

12A(11.29~12.17) 19 6 13 15:45

NG 95 24 71 61:54

2A(25) 1 1 0 0:48

5A(5.13) 1 1 0 1:56

R 7A(7.26) 1 1 0 0:36

108 (10.29) 1 1 0 0:45

INEt 4 4 0 4:05

&t 99 28 71 65:59




2, BE-RAZERFORNR

Z8% i A=k REBRF
WHBZEES 4 4:56
BUEAS 4 5:00
TRX#EES 5 5:52
EXgRERR 4 3:41
BREEZES 14 5:10
FEEIEAS 5 23:31
RERHEER 4 19:30
BRRAEBRAERINERS 6 4:53
ZOOZERR FRfE B % E-E 0]
BEWER 1 0:44
BUAREEES — —




3. BRHEIN-BEROZREDWR R
X5 E3l “#8 |  £0l | FE | RE | ZH | FAE | BE | EZFH | BR | 13 2o | 2% | RE | #E | FE
5o | CEALEE 52 20] 22 2 3] 2 7 7
P [(marmmx 1 1
Z0M 4 4
FERHEE 3 5 3 12 5 1 4
gﬁg SERLEE 1 1
D4k 0
FERHEE 37 5] 4] 14| 1 ) 5
g%g SERLEE 0
D4k 0
FERHSE 23] 11 5 1 1 4
g&g SERLEE 0
D4k 0
SERmSE | 143]  42] 85| 14| 16| 3| 15] 2] 0] O] 15 1 o o] 0
Nt | mERGEE 2o o o o o o o o 2 o o o o 0
Zot a7 o o o o o o o o o o o o 4 0
FERLSE 2 1 1
%#g SERLEE 0
Dtk 0
FERHSE 7 1 1 ANE
%@2 BERHEE 0
Z0M 0
FRRAEE 3 7 i
%@2 BERmEE 0
Z0M 0
FRRAEE 4 1 1 7
%@2 BERmEE 0
Zot 0
FREAEE T6 1 3o 3 2 7o o o o o o 0 0
Nt [ mERmEE o o o o o o o o o o o o o o 0
Zot ol o o o o o o o o o o o o o o0
SEREEE | 159] 43| 98] 14| 19| 5] 22] 2] 0] O] 15 1 o o 0
&5 [ mammsE 2o o o o o o o o 2 o o o o o0
Z0H a0 o o o o o o o o o o o 4 0




4. BROEFR DR

BROME
X5 B8 - - v
AR | AR | BE | AR | AR | R |TRR|@sRR| HE | RE | W | 20
il & 5 5
LI 0
*) —H&RIE 38 38
BELE 0
L)) 14 14
H FHIE 24 24
RE 14 14
2% 19 19
A= 5 5
& 22 2 20
M 2 2
R 0
RE 2 2
Z0fth 15 15
= 1 1
EE 0
B 4 4
BRiE 0
&5 165 115 0 14 2 5 0 4 0 20 2 0 3




